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HSSC Gram Sachiv- 09 Jan 2021 (Morning) -

When did the second battle of Panipat
take place 7

(A) 1556 B) 1761

(C) 1664 (D) 1526

Which city is not a tehsil of Gurugram ?
(A) Manesar (B) Pataudi

(C) Kosli (D) Farrukh Nagar

A slit of width ‘a' is illuminated by white light.
For what value of ‘a’ will the first minimum
for red light of wavelength 650 nm be at
0 =15°? (Given sin 15° = 0.2588)

(A) 5pum (8)
(C) 45um

10 um

(D) 25um
a protocol for sending
email between servers on the internet.
(A) Border Gateway Protocol (BGP)
(B) Real Time Pratocol (RTP)
(C) Hypertext Transfer Protocol (HTTP)
(D) Simple Mail Transfer Protocol (SMTP)
Which of the following is the second level
of Panchayati Raj in Haryana ?
(A) Gram Panchayat
(B) Panchayat Samiti
(C) Zila Panchayat
(D) None of the above

Replace the question mark by choosing the
correct answer from the given options.

5 10 | 30 % 3
2 | 4 | 12 L83
6 12 | 36 ]

(A) 2 (B) 4

(c) 3 (D) 7
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/" i =1 280 36 e g3 7
(A) 1556 (B) 1761
(C) 1664 (D) 1526
! a1 TR e o aeHa T 8 7
(A) HAE (B) uwerdt
(@ et (B) HRE TR

2’ SR ATl T W H GHg FHET 4
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T 650 nm o T YIS 2 JYH FAqH
0 = 15° qanm ? (f&1 R sin 15° = 0.2588)
(K} 5pm (B) 10 um
(C) 4.5um (D) 2.5um
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(A) WSt e Werehiel (BGP)
(B) fwaw 2rgm Wekhia (RTP)
(@) TIRIEHL TaHL Werehid (HTTPY
(D) faraet Tet TAHE Wil (SMTP)
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TS 1 AR R ?
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7. Which of the following rivers does not get
' its source from the Shivalik Hills ?

(B) Markanda

(A) Tangri
(D) Dohan

() Ghaggar

Reena is twice as old as Sunita. Three
years ago, she was three times as old as

Sunita. How old is Reena now ?
(A) 6years (B) 8years
(C) 7years (D) 12years

In the Ashta Pradhans of Shivaji's Cabinet
Finance Minister was called as

(A) Peshwa (B) Summant
(C) Amatya (D) Shuru Nawis

10. Ifin a certain language, ‘REMOTE' is
coded as ‘ROTEME'. Which word would
be coded as ‘PNIICC' ?

(A) PICNIC (B) PICKLE
(C) PIECES (D) PICKED

11. Who among the following has the final

power to decide whether a Bill is a Money /

Bill or not ?

(A) President

(B) Speaker of Lok Sabha
(C) Vice President
(D) Cabinet of Ministers

12.  In Haryana, HVPNL means
(A) Haryana Vidyut Prasaran Nigam Limited
(B) Haryana Voltage Purchase Nigam
Limited
(C) Haryana Vidyut Purchase Nigam
Limited
(D) Haryana Volta

: ge Prasaran Nigam
Limited g

13. e-:rh'et Congrgss accepted ‘Purna Swaraj’
§ its goal in the Session of the Congress

eld at Lahore in
(A) 1919 B
(C) 1928 ((D; :ggg
75 4 2

/
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7. Freferfa @ fire 7 1 @ e
HNurfedidTE 2 ?
(W) T
(C) ™

. ﬂmﬁa@gﬂmaﬁaﬁuﬂ%lsaﬁqﬁ,aﬂ

5 Wamwa@eﬁlmﬂmaﬁa@w%?

(A) 6T (8) 8a
©) 7ad (B) 1299
0. firarel ¥ wefiied & orewyHl # faawsf =
F HTH @ ST 7T o7 |
(A) UvmEr (B) gud
(C) am (D) YEIE

1g.  afforelt wTorH ‘REMOTE ' #1e ‘ROTEME'
?, @ ‘PNIICC’ & foT sf9—ar 18 3@ ?
(Af PICNIC (B) PICKLE Frec
(C) PIECES . (D) PICKED

T fa8ges v= fatees @ @ =, ag ok
o =1 3o AfUsR rafafaa i
fraraE e ?

(A) TgEfa
(B) wwEyT & T

(C) Swregfy
@) wEsw

- B & T, w5 e
(AF e fee samor e fifie
(B) ¥femn Seew v frm fafie
(C) mﬁgﬂqﬁaﬁm%ﬁ%@
(D) S Sedst wamor i ffide

™ I ¥ R 3§ g e
I 3T & T |

(B) 1929

(D) 1939

11.

13
ﬁ‘t{?fm’
(X) 1919
(C) 1928
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14. lltutmish was a king of which dynasty

(A) Lodhi dynasty

(B) Tughlag dynasty

(C) Mughal dynasty

(D) Slave dynasty

im President of the
" xﬁsxiz;?iLZf;Ey of India in 1946 ?

(A) G.V.Maviankar

(B) B.R.Ambedkar

(C) Sachchidananda Sinha

(D) Rajendra Prasad

16. ‘“Liberty is the freedom of the individual
to express without external hindrances to
personality” is said by
(A) Prof. Laski

(B) Prof. G. D. H. Cole
(C) T.H.Green
(D) Seeley

17.  Every yearthe State of Haryana celebrates’
‘Martyrdom Day' on 23" September in the
memory of

(A) Rao Tularam

(B) Raja Nahar Singh

(C) Nur Muhammad Khan
(D) Bahadur Shah

= ee—_—

18. If 144 144
: m 3 , then the valye of x is

(A) 0.0144
(B) 14.4
(C) 1.44
(D) 144

(C) g

(D) T = _
15. 1946,3&%@%@11%;31?1?@

Furafd A & 7

(Af . <. HTEETERt

(B) fl. 3T, FeATH

() ufeaeme e

(D) TSI JE18

o ﬁ%mﬁaﬁmmﬂ
16. %Tﬁm%ﬁﬁm%”w

2T hel 74T |

(A) ﬁﬁa‘ﬂ(?ﬂ'ﬁﬁ

Bf THE . €. . A

(C) d. = dH

(D) =

. i T S 23 Rde s ‘e e’
foroht Tfd & T 2 7

(Af TE gam™
(B) T AT T
(C) THETH

(D) R ¥R

144 144
Yle—=t %G
0124 5 & AXFIARR

(A) 0.0144 g
(B) 14.4

(C) 1.44
(D) 144
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ing False DEC&™ = 1 nchayall 11 16 g 191
9. Mg ion of Haryana (A} - (D)
wh c?gga ? B) Section 181 (C) sl T =fad A%,
o 'gection 161 ( ion 191 S I o
A gection (D) Section a‘{iﬂ'(ﬁ @lﬁﬂ 39 =ferd
gection 171 id “/have | 20. T e el B 27
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hotograph & M is my 3| o8 Al
pontng 08P % atman's father fyar IR firan 1 9
20. ror sister b hwasit? X
nobrothe hotograp It Tl dl
¢s son’. Wnose p (A)
fathe ﬁﬁT ﬁ
@) Hisown i ¥
(B) His father's (C) ESENG s
(C) Hisson's (D) e g fRae 7
Wis nephew’s s 3 gfemon o R
TR e
B which - aifeEh
91. Hathni Kund Barrage is located on (AY Ig )
. river of Haryana ? hioi A (D) are
(A) Yamuna  (B) ?';han © oft
(C) Saraswati (D) 22, TE R H, T e, st 3
22. InMS Excel, aworksheet, also known a?e? e 3, uF Tnohl B ﬁmﬂ% 3T .
) , is a table into which you en Atfrel & 74 gl hid l...
data and data label. N m wg=g (B) A
(A) Data set (B) ) Besfe (D) HATwsT
C) Spreadsheet (D) Data Room ]
) Sp . . e TR Y S Rt i v s
Bl e il R zenfr e % fore i 31 3 e
Government partnered to set up a 37
i roject in Karnal district ? WTTERY & 2 1
Horticulture Proj
(A) USA (B) Japan (A) | q.ug.u, (B) GI.IQH
(C) Israel (D) France : Cy e (D) w&

24.  Every Panchayat Samifi of Haryana sha|| % T <y Wl ey ahfa gra fafire
appoint different Committees and winfot i ﬁ'{[ﬁd\ﬁ $ s HT%Q 3R T
shall b-e the Ex-officio Secretary of every il =5 e gy A BT
Committee, & |
(A) Chairman A) e
B)  Executive Officer A

(C) President (B Friurey i STitRT
©) Commissiones (©) Ty
D) g




25. What is the name of the ins;rumen
records earthquake waves *

(A) Polygraph (B) Seismograph
(C) Anemograph (D) Barograph

t that

26. Every Panchayat Samiti of Haryana

shall appoint different Committees, each
Committee shall consist of how many
maximum number of members including
Chairman ?
(A) 6

(C) 8

B8) 10
D) 12

What is the difference between the biggest

2 3 4
and the smallest fraction among 3 2'5

and 2 2
6

27.

1 B 1
6 20
1 o) L
30

(A)

C) —
( 12
28. Whatisthe required quorum for transaction

of business at a special meeting of a

Zila Parishad according to the Haryana
Panchayati Raj Act, 1994 7

(A) One-third of the members actually

serving for the time being
One-third of the total members
One-half of the total members

One:half‘ of the members actually
serving for the time being

(B)
(C)

(D)

20. A
—_Isa minl-calendar from

which data-entry clerks ¢an enter a date

(A) Text box
(B)  Combo boy
(C) Form

(D) Date pickey

26.

e 1 i ) st 3 T TR
FHEAER 7
o v (@) R
©) wms (D) ST
<o 261 e e wfirr B
il 1 g el e, e S
¥ srener wfia Sl e W B
=¥ ?
« © (B) 10 '
(C) 8 (D) 12 1
2 3 4 4k 5 i wed w S Eed
3 4 5 6 i
Y N LT e
9 @\
1 1 .3
< ® \%@; B
1 \
w0 = (©) %
29 =i vt e 3tfefam, 1994 % srEw
T forem aiwg Y oo foasie stee o e 2R
FRuafsam =T ?

29,

(AT 38 T % foT It w9 § dara
w1 O ferd

(B) T wawdi %1 @ formrd

(C) T HaEAl 1 oqeq

(D) 38 779 & for arefires 9 § Y
I T 3y

— & O Fdw R, Rl erer_g

et ot o oo e o e | L

(A) Iz S

(B i wfag

(C) i

(D) T fiew
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30.

31.

hapter of the Haryana panchayati | 30.

1994 deals with the ‘Duties and
Functions of Zila Parishad’ ?

(A) ChapterXVI (B) Chapter Xl
(D) Chapter IX

Which C
Raj Act,

(C) Chapter X

05 53 27 14 75 4.25 31.

65 (@ ® @© @ (e)
What will come in the place of (c) ?

(A) 9.5 B 9
) 115 0y 1

32. Identify the correct answer for the Haryana | 32.

Panchayati Raj Act, 1994.

(A) Chapter XVII| deals with ‘Property,
Finance and Taxation'

(B) Chapter XVIil deals with Zila
Parishad'

(C) Chapter XVill deals with ‘Supervision
of Zila Parishad'

(D) Chapter XVIII deals with ‘Conduct of
Business’

Ifa+b=>5and3a+2b =20, then (3a + b)
will be
(A) 10
(C) 15

33.

(8) 20
(D) 25

34.  Who among the following was the Ruler of
Ballabhgarh in Haryana and was actively
involved in India’s independence struggle ?
(A) King Prithu
(B) Raja Nahar Singh

(C) Maharaja Agrasen
(D) Yadavindra Singh

35. Who was the author of Ram
(A) Kalidag
(C) Tulsidag

charitmanas ?
(B) Premdas

34,

35,

(B) e Xl
(o) 3T IX

105 53 27 14 75 4.25

85 (@ @ @© (@ (©
(c) 3 &I W I B 7 |
(A) 95 B 9
(C) 115 (o) M

meaﬁﬁw,wm%m
we A g |
(A) st XVl ‘G, fore iR e’ |
Tefod 8
®) weaw xviI ‘Rren uftee’ @ Hefta @
(ef steama Xvill ‘Rt aRug & g’
Q geifera &
e X VI T & EEeE |
7 aRa+b=5333+28=20%, A
(3a + b) B I
(A) 10 (B) 20
(CF 15 (D) 25

ﬁﬂ%‘f@ﬁaﬂiﬁﬁqg&qﬁnﬁmw
M AT 3R Y & Saar o

b U™ ¥ Wiy
(A) Temgy

(B) T IR fim

() HERT 3@y

(D) 3Iedis faw

THETHAE o To R o & 7
(B Fefem (@) e

(A)
(®) eI X

(D)
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36.

37.

38.

39.

40.

41.

42.

i ct
When was Haryana panchayall Raj A
came into force ?
(A) 22™ May, 1993
(B) 22 April, 1994
(C) 22 April, 1993
(D) 22 May, 1994

When Haryana was formed in 1966,
was declared as the second official language
of the State by Bansi Lal Govt.

(A) Hindi (B) Tamil
(C) Punjabi (D) Haryanvi
How many tehsils are there in Haryana at
present ?
(A) 93 (B) 75
(C) 58 (D) 85
625x L x 11 is equal to
1 V25 196
(A) 5 (B) 8
(C) © D) 11

Which among the following festivals is
celebrated to welcome the rainy season
in Haryana ?
(A) Teej

(C) Gangore

(B) Baisakhi
(D) None of these

When was the Panchayati Raj started in

India ?
) 1857 (B) 1952
) 1059 (D) 1973

Which of the following is the largest
0cean in the world ?

(A)  Pacific Ocean
(B) Indian Ocean
(C) Atlantic Ocean
(D) Aretic Ocean

Sferfaer e AL ¢
36. o e
(A) 22“%:1993
(C) 00 319, 1993
(@] 2278, 1994
/%( Gsa1966ﬁgﬁmﬂﬂa¥rﬁqf°1§3“= -
- g e gl
aaﬁrrarmmaﬁtﬁﬁm%mwml
(A & (B) dfEret
(@) usIEl (D) efEmrEl
ag. gl & adarE G A e R qeHie € 7
(A) 93 (B) 75
(C) 58 (D) 85 W
b)
J625 14 ]: 3/41%
( 11 J25 ﬁg— )(! y 2
(®f 5 (B) 8
) 6 (D) 11
50 a7 1 e e 5 o o
(r it (B) darEt
41, 9IRE N Yt ST =61 T oo and o g 7
(A) 1957 (B) 1952
(C) 1959 ©) 1973
/ﬁqﬁ%ﬁﬁﬂaﬁq_m%ﬁ
En|
TETERT 3 7 REEEE
©) " srestifees wrergmm
D) sfean g
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49,

i highest
_+ ety of Haryana has the
e Wt;ﬁraﬁg as per Census 2011 and 2020
0
‘eclion‘?
M1 P Faridabad  (B) 2mb_a|a:
urgaon (D) Panipa
5{( ; - fH a
i i an

;q 44. Who appoints the Chairman of Hary

public Service Commission ?
(B) President

(A) Governor
Prime Minister

' (C) Chief Minister (D)

< 45. lfy=5,1then what is the value of

% ol ¥ ?
| 1‘55 (&) 5042 (B) 2005
A Sw,g (C) 100 (D) 500
b

46. Haryana government in the year 2015,
declared that it will develop, to
be as the smart city.

(A) Ambala (B) Thari
(C) Gurgaon (D) Panipat
47. The length of IPvB is
(A) 64 bits (B) 128 bits
(C) 32 bits (D) 12 bits

48. Chinese traveler Xuan Zang visited
Thanesar during the rule of

(A) Akbar
(B)
(C) Aurangazeb

Vishnuvardhana

(D) Harshavardhana

What s 15 percent of Rs. 34 7
(A) Rs.3.40

(B) Rs. 450
(C) Rs, 3.75
(D) Rs.5.10

9/2019 (1) (M1)

‘ & 3IgaR
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/ﬁ Ehﬁm?ﬁ%@mm%amﬁﬁm ¢
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(Af TsEITS (B) wﬁ
©) e (D) 9
/ﬁy:s%,ﬁuoymwqu%?
|2/~
(A) 50v2 (B) 2005 5O A
(C) 100 (8) 500 5,,]10/5
(" <fearom w3 o€ 2015 7 g =T fwT. cod/?
Faw___ Hw ik if%
Sefmwt .
(A) Tarer (B) &t
@f e SRS
47. IPve I Si=TS € |
() 64 forcE (B) 128 fae™
(C) 32fwrw (o 12 e
6. HFftach g ey are A
& I el & S 6 |
(A) 3THR
B) oy
(C) 3
(B waH
, : I
/Q./ﬁ.mmwlﬁmawé? J:r(xfffg %
(A) %.3.40 ' ?
(B) %.4.50 Yo A0
(C) %.375
@f %.5.10




50.

51.

52.

53.

54.

55,

56.

| travelled 3 km southwards, then tudrl:ita'l::1 l
right and travelled 5 km, then Tumg gas
and travelled 7 km. In which direction W

| travelling last ?
(A) South
(C) East

“The State comes into existence or@gin_atin_g
in the bare needs of life and cont.mu"mg in
existence for the sake of good life.” This

(B) North
(D) West

was said by

(A) Plato (B) Kautilya

(C) Socrates (D) Aristotle
The average of first five multiples of 3 is
(A) 3 (B) 12

C) 9 (D) 15

Whointroduced the new system of revenue
collection and agriculture tax in Haryana
named as ‘Dahshala System’ ?

(A) Birbal

(B) Raja Todarmal
(C) Bhujbal

(D) Raghobal

Which two West Asian countries established
formal relations with Israel in 2020 ?

(A) UAE, Kuwait

(B) UAE, Sudan

(C) UAE, Bahrain

(D) UAE, Saudi Arabia

The portion of a disk that contains the
master boot record
(A) File allocation table
(B) Cache
(C) Boot sector
(D) File system
C?faflil r;s;t;agd is located in which district
(A)  Jhajjar

(B) Gurugram
(C)  Kurukshetra

(D) Faridabag

51.

52.

54.

55.

 gpota (M) |
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1 afedd
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g7. Which
(A) Kandy

(B) Sr Jayewardenepura Kotte
(9) Jaffna

(D) Nugegoda

.« the Legislative Capital of St

. Which of the followin
was built in 1947 when two sm

were joined ?

(A) Kama Lake

(B) Badkhal Lake

(C) Hathni Kund Lake
(0) Damdama Lake

all hillocks

59, Every Gram Panchayat, Panchayat Samiti
and Zila Parishad of Haryana shall continue
for a period of from the date

of appointment for its first meeting.

(A) five years (B) six years

(C) tenyears (D) seven years

60. 252 can be expressed as a product of
primes as -/~
(A) 2x2x3x3x7
(B) 3x3x3x3x7
(C) 2x2x2x3x7
(D) 2x3x3x3x7

61.  Haryanais dividedinto h .
owmanyLe :
Assembly constituencieg ? y Legislative
(A) 85 (B)
(C) 80

62, Calculate the eff

90
(D) @93

a3de i

" ;:r.zron of chromium atom (z=24),
(B) 3.55

(C) 429

D) 460

11

lanka? | 57.

g lakes in Haryana | 58

/" <o ) seien T ST, GG

ective nuclear charge felt by | 62
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(Bf -

- 3 2 - <fier ghamn & 1947
FaoR Adi o e 8 ?
DEEAEL
(B) CECREIS
(€) RS
(@) SHIHI Hidt

%
%@
9 =
Sa-qt Z’E/{
794 13 {u‘?‘

5% 1§

3 Rier aftwa, 319 geed! dosh i fFAaa
T #$I srafy o for
FE BN |
(A7 5ad
(C) 1094

(B)
(D)

. 252 % ITTST HEATAT o UGS & TY

1 T& AT R s Esar 2 | -
(AT 2x2x3x3x7 A5% -

(B) 3x3x3x3x7 )
o
(C) 2X2x2x3x7 )’-;g-

(D) 2x3x3x3x7




63.

64.

65.

66.

67.

68.

69.

9/2019 (1) (M1)
7
e 7 g P it e
. he State of . gfamm
How many districts does the 3 (B) 24
Haryana have ? (A) p) 22
(A) 23 B 2 © 21 ‘
() 21 (D) 2 /it o1 A wg T %
placed at the gaps in the given letter MON P
series will complete it ? MONPM@ NPMOA P i
ONPM _ NPMO _ PMON _ (8) ONPM
- (A) PNOM
(A) PNOM (B) ONPM (8 MONP
(C) NMPO (D) MONP (C) NMPO
Which dynasty was ruling Haryana when 65. Wﬁﬁﬁ%%W"Q|ﬁq 18 EFIE?II %ZH,
the Ghaznavids invaded India from the 39 9Oy 2REmT 9T fae 99T R YIrEE o °
North-West 7
(A) Pushyabhuti (B) Tughlag (A) g (8) g
(C) Tomara (D) Guptas (C) R (D) T=
The fraction of the total current carried by | 66. e 279 217 9 ! I aTeht ERAEE!
each ion is called EaR _ FEATA & |
(A) Transport number (A) ufEgeT g&n
(B) Raoult's number (BY ez dw&
(C) Coulomb number - (C) o™ T
(D)" None of these (D) 378 & IS 7 -
The Indi i s
e e | o7 SR ¢ e Ry e
of Haryana. & [ECE ST E
(A) Kakroi (B) Jhajjar 7] HIRUIE T
(C)  Yamuna Nagar(D) Khedar C i}
(C) IgTr IR (D) W
Who is the 17 speak f .
Lok oo 17" speaker of the 68, Fﬂmmwaﬁﬁaﬂﬁﬁ?
fg; Ifﬂumitra Mahajan (Kf Eﬁﬁ'{ EEEE]
eira Kumar B
©) OmBira ®) W gmr
(D) None of these (C) =7y ferem
D) ¥4 & ¥ 7
S
. T I
((QJ) garayana Swami SEUCET — &
ovindh Singh |
(C) Tarachandji fflahara- ((g)r TR ey
(D) Shivaji J m ii" ﬁs{%
©) Rrarsh
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70 @ﬁsﬁ@ﬂ“ﬂ?ﬁﬁﬁ?ﬁﬁé@%?

' g system ?
0. Whatisthe unit of force I cG dy o -
| (A) Newton (8) Poun 5 = o E@q 3S
|
. - rucoINERIEEk éﬂg&mﬂn%ﬁaﬁa@tﬁ
i 71.
Al Haniaconsﬁtuencyo{Le'gislit::;:izrr;bly ok
is located in which district 0 -
(A) Fatehabad “ T HEL
(B) Hisar @ %gﬂsﬁa
(C) Jind (D)
(D) Sirsa 2
72, e & e 3 o e gee FAH
. How many members are elected for . Eﬂa % ?
Rajya Sabha from Haryana ? f )
(A) 5 (B) 4 A 5 0 o
\2)- @ @ 10 & & 2

= T =31
. Which of the following units represents 73. Frefafew s A ﬁ?ﬂ? #ft TSl
largest amount of data ? TR T W Sl € !

(A) Kilobyte (B) Gigabyte (k) Tereiemse (B) TS
(C) Terabyte (D) Megabyte (C) T (D) WM

74. Who among the following was not the 74, Frefafaa 3§ @ 9 sfEmn S TsEdw
Governor of Haryana ? e g7

(A) Dharma Vira (A) HHER

(B) Mahabir Prasad (B) WEER YHT1g

(C) G.D. Tapase @y <ft. . aw

(D) Om Prakash Chautala (D) A WehTeT SreTeT

75. Which district of Haryana has the lowest | 75. T Y=} <t e S8 s &

number of Gram Panchayats at present ? [ERRECE: R cr e 7
(A) Faridabad (B) Rohtak

- A wlemETg UeTeh

(C) Panipat (D) Panchkula (C) uHua :g; g el
+ Pick the odg numerical pair, ﬂ forvm gearers ™ ﬁﬁ'(

. S '
(A) 83-75 (B) 49-42 - (A) 83-7
(C) s8-59 (D) 25-17 % o —
(C) 58-50 (D) 25-17
W 59 e
Y d
N\ o 7”5; 1
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English Language g 27
/ Kk in the following sentence | o e ﬁ"

i blan ivenin the
v}:uiltlhna1 g}fonect form of the word given in (A) RICE G %gﬁ
bracket. (accommodate) (B) SRR
The notice read . (C) g
on first come first serve basis. gl 2aus
(A) Accommodate (D) st a7cd e
commodating Ll
) Ac ; e ) areT A
(C) Accommodation 84" A forear % |
(D) None of these A eipdig ¥ (B) e
Directions (Questions 78 — 80) : Fill in the blanks ( ared! (D) &
with appropriate words. ‘ (%] CELIR] <y A’ 27
78. lhopeyouwilnottum___ my Bf trrg'af CoReace
rec);ues;f. @ around . (A) ?‘;; (B) TERIER
(A) o e
(C) up (D) down (C) <A (8)
79. Students will go on an S SRl gurfed o 91
(A excusion (B) ascursion 9. gﬁz%aq.—, (B) ANRI g
(C) excurtion (D) excursion (A) By A
/{ Because of the heavy rain, the match (C) g
was i =t wifie & Pmtar v
(A) set aside (B) fallen off 87. Tl angﬁa; + -
(G) called off (D) broken off Sare ?
81. Read the sentence to find out whether there (A =g
Is any errorin it. The error, if any, will be in (B) fSreft wror e
one part of the sentence, mark the option (C) e BhwEg
of that part with error as your answer. %
If there is no error, mark (D). (Ignore errors (D) i _q"a'ﬁ:ﬁﬁ
of punctuation, if any.)
It was time that you started working. 88. 9y YEe MY TET, dE@geh qU-
(A) Itwas time that ] iR et e By A g |
(B) working ¢ A v Il
(&) you started W%ﬁmmﬁaﬁ% ?
(D) No error (A) ﬁ’amﬁr (B) ﬁtﬁ?
; Choo_se the one which best expresses the (Gf FAR (D) ‘qga;(
mzfean{ng of the idiom given in bolq in the
ollowing sentence, 89. @;q ETEF{'
She rode roughshod over her tenant when §
she decided to sg| the house Without (f W (B) w
Informing her tenant about her plans ! © 3 (D
fig?imd lacék of consideration of 9 ) 2
Ngs and wishes of 0. T JH ¥
(B) Rejected the 5 Fia
eals W
Spoke rudely tgp o IR iy 2 HTeeita Tdis

(D) Insuiteq (A) Eﬁa;maq
(8]




